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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.
Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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T us A
SECTION A

Ql. (a) UH Hul & sl 1 NEd it AT T 5,000 T8 HHG  fa=e
¥ 1,200 7 | UET Heg fohen Sman 2 T o wfiept 6t o sftaa & s 2 |
144 TR et o1 A1 foran = fomeht 3t da o1m 5,500 T8 718 |
FAT Y8 el S Gohdl & fob TATT Ml i 3= I SHEE § ads &9 9
31fers 8 2 (o0 = 0-05 3TFNT HIfS)
The mean annual income of workers in a company is ¥ 5,000 with a
standard deviation of ¥ 1,200. It is suspected that local workers have
higher than the average income. A sample of 144 local workers is drawn
and their sample mean income is found to be ¥ 5,500.

Can it be said that local workers have significantly higher income than
the total population ? (Use o = 0-:05) 10

(b) AT AfTash TEMME & HROT hl TE YUiEEl (SATRSEA) % GRH FHAH Td
faetuetd SE TgE S-hHE HUMA $ G BH-HE W A(d-TEAT TeEH
(wE. g, ) Wit 31T T8 2
What Supply Chain Management (SCM) strategies were adopted by

leading e-commerce companies such as Amazon and Flipkart during the
lockdown period caused by the Corona Pandemic ? 10

() T YUITell e Eedl i Jeush ol o1 # wemar dht fohe gehi
mmém%?

How can information system bring competitive advantage to business
organisations by supporting managerial decision-making ? 10

(d) s iR gfaem 3 feew o 2 & et foriv 491 & foe g 1 <
¥ 350 Ufd 3Mew WE T 22 Ufd YN BN | SHHT HIA WA (3awedl HiE) hH
AN 3{Ed H1A 1 15% 2 | IfABE 9d9= # T 2,20,000 HeF 6 g U a9
Glied ? |
(i) anfdes ey wEn (3,309, ) i AT HINT |
(ii) e FIhelad ATew § fehad 31g%a el i ogfd 2l & 2

An engineering firm has determined that for a particular part, the cost
of purchase is ¥ 350 per order and ¥ 22 per part. Its inventory carrying
cost is 15% of the average inventory. The firm currently purchases
T 2,20,000 worth of this part every year.

(i) Determine the Economic Order Quantity (EOQ).
(i) What is the optimum number of days supply per optimum order ? 5

(e) TR o1 37yl gerehish o1 ¥ ? 3 MEW FT Hal A1 @ ? THR % 3w
Farehich 1 AT H AfFferd =xon 1 v hifg |
What is Fisher’s ideal index ? Why is it called ideal ? Describe the steps
involved in the computation of Fisher’s ideal index number. 3+2+5

HXS-B-MGMT 2
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AREAS UNDER THE STANDARD NORMAL DISTRIBUTION

The entries in this table are the probabilities that a standard normal variate is

between 0 and Z (the shaded area)

Z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
0.0 0.0000 | 0.0040 | 0.0080 | 0.0120 | 0.0160 | 0.0199 | 0.0239 | 0.0279 | 0.0319 | 0.0359
0.1 0.0398 | 0.0438 | 0.0478 | 0.0517 | 0.0557 | 0.0596 | 0.0636 | 0.0675 | 0.0714 | 0.0753
0.2 0.0793 | 0.0832 | 0.0871 | 0.0910 | 0.0948 | 0.0987 | 0.1026 | 0.1064 | 0.1103 | 0.1141
0.3 0.1179 | 0.1217 | 0.1255 | 0.1293 | 0.1331 | 0.1368 | 0.1406 | 0.1443 | 0.1480 | 0.1517
0.4 0.1554 | 0.1519 | 0.1628 | 0.1664 | 0.1700 | 0.1736 | 0.1772 | 0.1808 | 0.1844 | 0.1879
0.5 0.1915 | 0.1950 | 0.1985 | 0.2019 | 0.2054 | 0.2088 | 0.2123 | 0.2157 | 0.2190 | 0.2224
0.6 0.2257 | 0.2291 | 0.2324 | 0.2357 | 0.2389 | 0.2422 | 0.2454 | 0.2486 | 0.2517 | 0.2549
0.7 0.2580 | 0.2611 | 0.2642 | 0.2673 | 0.2704 | 0.2734 | 0.2764 | 0.2794 | 0.2823 | 0.2852
0.8 0.2881 | 0.2910 | 0.2939 | 0.2967 | 0.2995 | 0.3023 | 0.3051 | 0.3078 | 0.3106 | 0.3133
0.9 0.3159 | 0.3186 | 0.3212 | 0.3238 | 0.3264 | 0.3289 | 0.3315 | 0.3340 | 0.3365 | 0.3389
1.0 0.3413 | 0.3438 | 0.3461 | 0.3485 | 0.3508 | 0.3531 | 0.3554 | 0.3577 | 0.3599 | 0.3621
1.1 0.3643 | 0.3665 | 0.3686 | 0.3708 | 0.3729 | 0.3749 | 0.3770 | 0.3790 | 0.3810 | 0.3830
1.2 0.3849 | 0.3869 | 0.3888 | 0.3907 | 0.3925 | 0.3944 | 0.3962 | 0.3980 | 0.3997 | 0.4015
1.3 0.4032 | 0.4049 | 0.4066 | 0.4082 | 0.4099 | 0.4115 | 0.4131 | 0.4147 | 0.4162 | 0.4177
1.4 0.4192 | 0.4207 | 0.4222 | 0.4236 | 0.4251 | 0.4265 | 0.4279 | 0.4292 | 0.4306 | 0.4319
1.5 0.4332 | 0.4345 | 0.4357 | 0.4370 | 0.4382 | 0.4394 | 0.4406 | 0.4418 | 0.4429 | 0.4441
1.6 0.4452 | 0.4463 | 0.4474 | 0.4484 | 0.4495 | 0.4505 | 0.4515 | 0.4525 | 0.4535 | 0.4545
1.7 0.4554 | 0.4564 | 0.4573 | 0.4582 | 0.4591 | 0.4599 | 0.4608 | 0.4616 | 0.4625 | 0.4633
1.8 0.4641 | 0.4649 | 0.4656 | 0.4664 | 0.4671 | 0.4678 | 0.4686 | 0.4693 | 0.4699 | 0.4706
1.9 0.4713 | 0.4719 | 0.4726 | 0.4732 | 0.4738 | 0.4744 | 0.4750 | 0.4756 | 0.4761 | 0.4767
2.0 0.4772 | 0.4778 | 0.4783 | 0.4788 | 0.4793 | 0.4798 | 0.4803 | 0.4808 | 0.4812 | 0.4817
2.1 0.4821 | 0.4826 | 0.4830 | 0.4834 | 0.4838 | 0.4842 | 0.4846 | 0.4850 | 0.4854 | 0.4857
2.2 0.4861 | 0.4864 | 0.4868 | 0.4871 | 0.4875 | 0.4878 | 0.4881 | 0.4884 | 0.4887 | 0.4890
2.3 0.4893 | 0.4896 | 0.4898 | 0.4901 | 0.4904 | 0.4906 | 0.4909 | 0.4911 | 0.4913 | 0.4916
2.4 0.4918 | 0.4920 | 0.4922 | 0.4925 | 0.4927 | 0.4929 | 0.4931 | 0.4932 | 0.4934 | 0.4936
2.5 0.4938 | 0.4940 | 0.4941 | 0.4943 | 0.4945 | 0.4946 | 0.4948 | 0.4949 | 0.4951 | 0.4952
2.6 0.4953 | 0.4955 | 0.4956 | 0.4957 | 0.4959 | 0.4960 | 0.4961 | 0.4962 | 0.4963 | 0.4964
2.7 0.4965 | 0.4966 | 0.4967 | 0.4968 | 0.4969 | 0.4970 | 0.4971 | 0.4972 | 0.4973 | 0.4974
2.8 0.4974 | 0.4975 | 0.4976 | 0.4977 | 0.4977 | 0.4978 | 0.4979 | 0.4979 | 0.4980 | 0.4981
2.9 0.4981 | 0.4982 | 0.4982 | 0.4983 | 0.4984 | 0.4984 | 0.4985 | 0.4985 | 0.4986 | 0.4986
3.0 0.4987 | 0.4987 | 0.4987 | 0.4988 | 0.4988 | 0.4989 | 0.4989 | 0.4989 | 0.4990 | 0.4990
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Q2.

(a)

(i)

(ii)

TCr AT W5 AT 4 IR Ao e a1 2, N 4 H ¥ 3 aR wd
A 30| 2 9R A9 o Eehar @ | UiRikar &1 oET Hif

(A) @, S, © Tt e o geRd @
(B) ‘S’ 3flt &Y a1 fermn o Tehd 8, W T < dehal ? |

(C) © 3R T a1 Fem @ "ehd &, W < Hehel B |
ffafaa syram ameft § we fFola gaen =t oo fean w2

(1)

(i1)

ehfd <t feafoat forspe
% % %
) 190 186 182
3 164 162 166
35 142 144 174

Ffe frferfad Amvgue 3w fohe S 2, df si-a fashed w=faa gnm 2
(A) Bfegiad qIgre
(B) HfFaftH AIgUeg
(C) wtfaersd HIUEUS
(afg 3mreTmaTe ST gRHTOT 0-7 THET M)
‘A’ can hit a target 4 times in 5 shots, ‘B’ 3 times in 4 shots and ‘C’
twice in 3 shots. Calculate the probability :
(A) ‘A’, ‘B’, ‘C’ all may hit the target.
(B) ‘B’ and ‘C’ may hit the target, but ‘A’ may not hit it.
(C) ‘C’ and ‘A’ may hit the target, but ‘B’ may not hit it.

A decision problem has been expressed in the following payoff
table :

HXS-B-MGMT

States of Nature Alternatives
Ay A, Aq
E, 190 186 182
E, 164 162 166
Eg 142 144 174

Which alternative will be selected if the following criterion is
used ?

(A) Maximax criterion

(B) Maximin criterion

(C) Hurwicz’s criterion

(Assume degree of optimism is 0-7)

4
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(b)) @

(i)
(iii)
(iv)

(i)

(i)

(iii)

(iv)

(c) (1)

(i)

(i)

(i)

HXS-B-MGMT

“gereent g ol o9 O ol ggEar womeft (Suwed.) @ g
T SR (..U, ) Fed IR E 1 Rl i o 3
% THYT § e dIforT |

.09 UH. U9 UH. 3.0, § hd T fha1 51 gehd1 2 ?

21.UH.T". & TII F 7 ?

-Afed U SEAES-ANfd ELUG.UH, % o9 R THHAE U
FEHATT & ?

“Decision Support System (DSS) and Management Information

System (MIS) are very helpful for managers in taking decisions.”
Comment and support your answer.

How can DSS be differentiated from MIS ?
What are the components of DSS ?

What are the similarities and dissimilarities between data-driven
and document-driven DSS ?

U ufagH et SueRtor i gfewenfya s W fomam = @ 2, o
TH NG T 4,000 8 T a6id H ThY o T B | 3N & IUW T
I8 9T T TR 3\ YT hl W@ o Y9H 99 § 0 91 fgd 9y
4 % 1,000 8 | 9390 I Ufd a¥ T 300 § Wt @ |

(A) MG =S @ 0% (I fawrd) 2, df U0 ol e ghaeaig
T 1R 2
(B) Afe &SI @ 12% &1, Tl 3UHIT bl el FIEATYT AT TTMRT 2

“Gra (3adt) TR v qehETd ufshan & e srRe ol adde w5y
¥ fore sma & 17 wwemsv |

A firm is considering replacement of an equipment, whose first
cost is ¥ 4,000 and the scrap value is negligible at the end of any
year. Based on experience, it was found that the maintenance cost
is zero during the first year and it is ¥ 1,000 for the second year.
It increases by ¥ 300 every year thereafter.

(A)  When should the equipment be replaced if the interest rate
is 0% (zero percent) ?

(B)  When should the equipment be replaced if the interest rate
is 12% ?

“Inventory Control is a rational process in which decision-making
is often done irrationally.” Explain.



Q3. (a) (1)

(i1)

(iii)

(1)

(ii)

(iii)

() @

(i)

3-IIH dATEqehedl 1 2 ? foh Tehefiehl Fam=mil &1 36 W Yg@ Y91
qS1 8 ?

SWET b WR el wd dwmwed # fewfw fafm wwR A
IR feh-fRaT3Tl 1 ol <hIfTY |

S-9EH o bR o foTu wrd @R &l wd wet H e
Hifsu |

What is e-business architecture ? Which technological innovations
have had a major impact on it ?

Describe the four pillars of e-governance and the various types of
interactions performed in e-governance.

Discuss the Indian Government’s efforts and actions towards
implementing e-governance.

frfafaa e (ehifEr) s awen =t sere (infeea) fafa &
T HIT :

AN ~IAAH AT :

C =5xq + 6x,
Fﬂ‘LSﬁ :

X1 + X9 = 1000

x1 <300

X9 > 150

X1,X920

U fged @an 1 9 i Sk H § TMTe B T e fhar ST @ |
Téi-gm @ fifga 500 =afhal W fohu o =R § 39 & Y HI qE
g 1Y okl = T Mt € TS |

freferftad grofl § oeft & I=m & gfafshamd et 61 78 2

HXS-B-MGMT

3R THEGTR HAFEEH | IS I T
EEll 150 30 70
=t <t miferat 130 40 80
%A 280 70 150
TR ARl o AER W F 78 ey Fehren s har @ T g ik
=1 1 mierE & gwe # AEwaqul fiear 2 2
6




(i)

(i)

HXS-B-MGMT

Solve the following Linear Programming Problem by Graphical

Method :

Minimize cost :

C= 5X1 + 6X2

subject to :

x; <300
X9 > 150

X1, X920

A certain drug is claimed to be effective in curing cold. In an
experiment on 500 persons suffering from cold, half of them were
given the drug and the other half were given the sugar pills.
Patients’ reactions to the treatment are recorded in the following

table :
Treatment Helped Harmed No Effect
Drug 150 30 70
Sugar pills 130 40 80
Total 280 70 150

On the basis of the above data, can it be concluded that there is a

significant difference in the effect of drug and sugar pills ?

10
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CRITICAL VALUES OF CHI-SQUARE (x2)

f(2)
. W2
g > X
dar o 0.100 0.050 0.025 0.010 0.005 0.001
1 2.1 3.84 5.02 6.63 7.88 10.8
2 4.61 5.99 7.38 9.21 10.6 13.8
3 6.25 7.81 9.35 11.3 12.8 16.3
4 7.78 9.49 11.1 13.3 14.9 18.5
5 9.24 11.1 12.8 15.1 16.7 20.5
6 10.6 12.6 14.4 16.8 18.5 22.5
7 12.0 14.1 16.0 18.5 20.3 24.3
8 13.4 15.5 175 20.1 22.0 26.1
9 14.7 16.9 19.0 21.7 23.6 27.9
10 16.0 18.3 20.5 23.2 25.2 29.6
11 17.3 19.7 21.9 24.7 26.8 31.3
12 18.5 21.0 2353 26.2 28.3 32.9
13 19.8 22.4 24.7 20 29.8 34.5
14 21.1 237 26.1 29.1 31.3 36.1
15 223 25.0 270.5 30.6 32.8 37.7
16 23.5 26.3 28.8 32.0 34.3 39.3
17 24.8 27.6 30.2 33.4 35.7 40.8
18 26.0 98.9 315 34.8 37.2 42.3
19 27.2 30.1 32.9 36.2 38.6 43.8
20 28.4 31.4 34.2 37.6 40.0 45.3
21 29.6 21 35.5 38.9 41.4 46.8
22 30.8 5131 36.8 40.3 42.8 48.3
23 32.0 35.2 38.1 41.6 44.2 49.7
24 332 36.4 39.4 43.0 45.6 51.2
25 34.4 Sl 40.6 44.3 46.9 52.6
2% 35.6 38.9 41.9 456 48.3 54.1
27 36.7 40.1 43.2 47.0 49.6 55.5
28 37.9 41.3 44 .5 48.3 51.0 56.9
29 39.1 42.6 45.7 49.6 52.3 58.3
30 40.3 43.8 47.0 50.9 53.7 59.7
35 46.1 49.8 53.2 57.3 60.3 66.6
40 51.8 55.8 59.3 63.7 66.8 73.4
45 57.5 61.7 65.4 70.0 73.2 80.1
50 63.2 67.5 71.4 76.2 79.5 86.7
55 68.8 73.3 77.4 82.3 85.7 93.2
60 74.4 79.1 83.3 88.4 92.0 99.6
65 80.0 84.8 89.2 94.4 98.1 106.0
70 85.5 90.5 95.0 100.4 104.0 112.3
75 91.1 96.2 100.8 106.4 110.3 118.6
80 96.6 101.9 106.6 112.3 116.3 124.8
85 102.1 107.5 112.4 118.2 122.3 131.0
90 107.6 113.1 118.1 124.1 128.3 137.2
95 113.0 118.8 123.9 130.0 134.2 143.3
100 118.5 124.3 129.6 135.8 140.2 149.4
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(i1)

(i)
(i)

Q4. (a) (i)

(ii)

(iii)

HXS-B-MGMT

$aEH Y dayades 3cE & U “qefiF 3Icure femmi w1 @ I
Gehe T ohl TN hifT |

weh fafimior st g9 10 T FHAT SRR (YA A1EH) TN H oAl
2 | et 10 73t o riehe Frferfaa amoft # fow mo # -

QU SehTEAl | el A
e EEOERI
150 1,000

e fovam 2 fob ag womelt (faeew) o oftfcafaat (saf) & &

EEIRCRIRG RN

(A) Teeor vt & @1 ek faemor = serse arfes amer aitfefoRn
(vrdi) § ol A T FHEAT P 95% A0 HwreAi ok SFeer U
ST |

(B) T S R St 5 T § At e 6w

3,4,2,0Td 77 |

et (UTfthshet) &9 8 weiia Hifse f s ufsean fresor 4 2
YT & |

Apply the concept of “Decay Curve of New Product Ideas” to an

innovative product like ‘e-Bike’.

A manufacturing company always uses a sample size of 10. Data
for the past 10 samples are as follows :

Number of Total Units
Defective Units Sampled
150 1,000

The system is believed to be operating under normal conditions.
(A) Construct a control chart with control limits such that
measurements for 95% of the units under normal conditions
would fall within the control limits.
(B) Suppose the number of units defective in the next 5 samples
are :
3,4,2,0and 7.
Demonstrate graphically whether the process is under
control or not.

fopH TehR T=gerd T@n fAfshaar i @FTd @1 &1 Hdt 7 2 W dqeH
RS %l & B H IMMHA =07 T 9ol HIfQ |

Y 3. ST o WGl H “@UH TUET T 85% AT YU i fedr o
Tohal 2 | fava wale 3Icared yonfe & ded H 3@ e Y faemm
HITT |

U Higea fashfid i areft st 4 “Faag-famm’ quredn & geeea 8
U see, &% dee Ud AR sieh o sl a1 fHeht Bt 2 2

9



(v)  Temelt it % fore, Frerferfiaa qeed & i & -

Ry Fx gurfad fdfafy

T g9
T 1= 11
Eil 2-3 10
il 2-4 8
Ell 25 5
3 3-6 6
3 4-6 9
K 5-17 .
k&l 67 7
33 7-8 12
El 7-9 5

(A) Feas @ Hifew |
(B) shifass 99 (Tsrfeerat Treat) @IfST |

(1) How does the balancing line reduce the cost of idleness ? Describe
the steps involved in solving a line balancing problem.

(ii) W.E. Deming said, “85% of poor quality can be attributed to
management”. Discuss this statement in the context of World
Class Manufacturing Systems.

(iii)  What role is played by Green belts, Black belts and Master Black
belts for managing ‘Six-Sigma’ quality in a Software Development
Company ?

(iv)  For a project, the following information is given :

Y. Expected Activit,
ptivity . Co?npletion TimZ
A 1-2 11
B 2-3 10
C 2-4 8
D 2-5 b
E 3-6 6
F 4-6 9
G 5-17 2
H 6-17 7
I 7-8 12
J 7-9 3

(A) Draw the network diagram.
(B) Find the critical path.

HXS-B-MGMT 10



b)) @) m%ﬁaﬁﬁaﬁaﬁwﬁamwﬂmmﬁ%aﬂwwwﬁr@
T R | HIfS HEEEEY TUNeh FHRITT
qeqdn a1 afy

olo|g|lu|luo|o|W|N|
ARl |O|w|o| | DN

—
(=)
—
—

=
-
Y
)

ﬂwwﬁﬁ%ﬁw%%&M§

12 11

() g dm (Iga fafie) v & fagrea @ @ 2 W Jfe <l s
1 T Hifsm | afered whier § sgeht @ TR & 2

(1) Twelve salesmen are ranked for efficiency and their length of

service. Find the rank correlation coefficient. 5
Salesmen Efficiency | Length of Service
A 1 2
B 2 1
C 3 5
D 5 3
E 3 9
F 5 7
G 7 7
H 8 6
I 9 4
J 10 i |
K 11 10
L 12 11

(ii) What are the tenets of Central Limit Theorem ? Discuss
the concept of Standard Error. What is its utility in hypothesis
testing ? 3+2+5

HXS-B-MGMT 11




(© () forell Feft & for €., ol wgearot 2 9
(i)  E.3d. Srarerm & ol yedsli va sui gft el i aweET |
(i) fopdl f Somft. frrmam wrHfRT % 9r § frar @ R
HIT |

(1) Why is ERP important to a company ?

(ii)  Explain the economic aspects of ERP implémentation and the
hidden cost therein.

(iii)  Discuss in detail any three ERP implementation strategies.

HXS-B-MGMT 12



Q5. (a)
(b)
(c)
(d)
(e)
Q6. (a)

©us B
SECTION B

“ara TR faehr A &R STded i g o fofu T el | 3Eh Tefud
HH o T Tieared ¢ Wi 2 |7 e i |

“The Government of India has been making efforts to remove the
regional imbalances in development by providing incentives for setting
up industries in rural areas.” Elucidate.

() & erfde wehishn o fafia il @1 auH Hifvo |

(i) ‘sifede’ o q9e7 vd fquer s/ 8 2

(1) Describe the different levels of regional economic integration.
(i1)  What are the pros and cons of ‘BREXIT" ?

“w# 3 (fasm) S fop 5d o (Te@e) B 381 i TR qod &
BT |7 T MY 39 HYT H HgHd & ? U U 3¢ ¥ YA I I
sitfac fag ShIfSTT | avzmsy foh 8 e vgrdshy &1 Ao d 7 |

“A vision is too abstract to be of any practical value.” Do you agree with
the statement ? Justify your answer with a suitable example. Explain
how objectives form hierarchy.

(i) 39 Geehl hl AT HIfT ST 29 GfaedgicHehdT sl THTfad &id & |
(i) 39 =Hl Hl GUARY ST Th HHI 1 YRd H Haq™ A H
ST W1 TR i aq odTehd il ATfe |

(1) Elucidate the factors that influence country competitiveness.

(ii))  Explain the factors that a company should evaluate to assess ‘ease
of doing business in India’.

grewifer fRea # S, afeew’ Su ggEar w2 W udwifaRn
foroctu % @R &9 Td | § 2

How does BCG Matrix help in portfolio planning ? What are the
advantages and limitations of such a portfolio analysis ?

() A e fifq 9@ e wEifaEt 1 3199 1 siifac s 8 2
(i) “Tdu™ § dehiehl-3ATide Yeardaeil H ‘AveieRor Ye w1 HeEwd sSgdl Sl
@2 |7 IR 31efegaen & gibed | 39 A i HESU |

(iii) TP R FAUTE A1 AR i g6 e & O sfead I A%
wid (3. H.H.) g fou s @ fafie wieareat 1 fag=mr Hifsw |
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(1)

(i1)

(iii)

b)) @)

(ii)

(i)

(i1)

(c) (1)

(i1)

(iii)

(i)

(i1)

(iii)

Q7. (a) (1)

(i1)

HXS-B-MGMT

What is the rationale behind liberalization strategies adopted by
the New Industrial Policy ?

“The term ‘globalisation’ assumes increasing importance in
today’s techno-economic parlance.” Explain this statement in the
context of the Indian economy.

Discuss the various initiatives undertaken by the Indian
Chamber of Commerce (ICC) to promote both national and
international trade.

dfeess e o wHANEI H1 WA HH k(U SgugE HufE
(w4 H.) & g 3TN H A8 I aTell IR HiEhldeh qag i i
Ui T |

T % IR TEh(qEl hl HHeH H TEhideh TR W SRS Hl
Hised T Ja-4ehi ol hd gue sH1ET 8 ?

Describe the four cultural predispositions that MNCs are likely to
adopt towards managing employees in global context.

How does Hofstede’s model on cultural dimensions equip
international managers with an understanding of cultures across
countries ?

9T % HeI-@ Hied i wAte vd fgde fafafidi % &= %
FqgrsHl ! YgA-T |

TeI-fEe faveiyur 8 genfea feRen Sar R 2 e 1 wEEar @
HHATRT |

“Torfifa T T U AT 8, T WHIG ol T8I Hdl @ | 39
HYF HT TATEATHD vy FHIfST |

Identify the linkages between primary and secondary activities of
Porter’s value-chain model.

How is value-chain analysis conducted ? Explain with the help of
an example.

“Strategy follows structure, structure supports strategy.”
Critically analyse this statement.

“fopeft afesT 1 3 Ufidgel & S Ifcugicas oy uTed & Td
U g H g (SHiEh) WHifdaT Teg oidt 8 |7 Icdeh JehR hl
AT WG Bq 3T 3eTaN gRT 39 e i IR ¥ T0esy |
39 3N hl 3ggd Hd gY TR, Thishtur T foferefisrior <l
fopra wrfifaat w1 wwemse | foRa ofifeufai @ 3 oMot s9am &
fore wartferes 3uwgRh € 2
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(1) “Generic strategies help a firm to gain and sustain competitive
advantage over its rivals.” Elaborate this statement by giving
suitable examples for each type of generic strategy. 8

(i1))  Explain the growth strategies of expansion, integration and
diversification by citing suitable examples. Under which
conditions are these strategies most suitable for adoption ? 12

(b) HEWHE & % b IUHAT (F1.08.7,) P TWHR gRI Yafed wa e e
STl ® | 39 3IwhAl (RUE.,) % ITYE IS Bl IgYd Hd gL AMR H
TIHR <l Fguifiar &1 siifacr fiag Fife | ®&n o oma & 6 51 4 3w
.08, T IR H BT TR 1 (01T 3fed B 2 39 IW &k Gnedq H
U
A number of Public Sector Undertakings (PSUs) are managed and
controlled by the government. Justify the State participation in business
by citing suitable examples from these PSUs. Do you think that the
government’s decision to monetize some of these PSUs is justified ?
Give reasons to support your answer. 10+5

© () focuft =amr & yyes fafie fomqaioor qenfient st @wemsT |
(i) Tr=faiea yost i gea fasmand @ 8 2
(A) 9@ I
(B) @& 9
(C) aTfurfse s
(D) Higeit sfisen

(E) iHT JH9mv1-93

(1) Explain the various financing techniques employed in foreign
trade. 5
(ii))  What are the main features of the following documents ? 10

(A) Letter of Credit

(B) Bill of Lading

(C) Commercial Invoice
(D) Consular Invoice

(E) Insurance Certificate

Q8. (a) () < YOeM YEY Td qUEE UEied U§Y B O gHEA g
HYUHATY & ?
(i) YR YereH Yoy § aftafera fafis wrifas get =t awsmse |
(iii)  dfvae TreTens ey (fesed) & witafera fafim gei o1 avfa SifSe |
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(b) @)

(i)

(iii)

(1)

(i1)

(iii)

(o @

(i)

(1)

(i1)

HXS-B-MGMT

What are the similarities and dissimilarities between domestic
operations  management and  international operations
management ?

Explain the various strategic issues involved in international
operations management.

Describe the various issues involved in global organizational
design.

Wi fml (FiRe) % g w faem s sitmrw (ww ws o)
AT I L T & 2

1 ferell wferd ot T wfthet qlieh & whest AT TWE R 2 319 I
1 3Nfae fag hifsm |

A9 WHifde FRISH % a1a9g, %% tH we U 3foad giomy 78 2 99
2 | SUYh ISTEN 1 IgYd I gU WA RO i fad=mn Hifvve |
Why are mergers and acquisitions (M&As) gaining popularity
among Indian corporates ?

Is it possible to take over a target company in a hostile manner ?
Justify your answer.

Despite comprehensive strategic planning, many M&As do not
yield the desired results. Discuss the possible reasons for the
same, citing suitable examples.

“ferTd aErh 3 Hierel Ud SRRuR fEEl & weft ® F, R @
afl, A § A T T, A il B awia € 17 39 wud % e
i, 1 gt 3 o 2 Wt v wE ar B e ) R
EAE

“Seifer Hreistieh foreor yomeft (f.<ww. ) el @ v g fify
YRR 3, R ot YRd @ v Huifed A i v St SEE
R |7 WA H W U9 9N gee e i § 9.9, 6 sy
U9 Al WM hfgd B g W HYA I ACEAIHE v
HIT |

“The past decades have witnessed a number of scandals and
shareholder disputes, all of which indicate lacunae, if not lapses,
in governance.” In the light of this statement, discuss the role of

Indian corporate governance framework in responding to these
challenges.

“While the Public Distribution System (PDS) forms a cornerstone
of government food and nutrition policy, India continues to be
home to a large population of hungry and malnourished people.”
Critically analyze this statement by focussing on the functioning
and efficiency of the PDS in achieving food and nutritional
security in India.
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